Homework 03
Section 12.1 — Vectors in the Plane

Exercises 2,4, 7,13, 17, 18, 25, 29, 37, 39, 41, 43, 46, 57

2. Sketch the vector b = {3, 4) based at P= (-2, —1). L Po‘\,\(- hao
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4. Letv="P0, where P=(1, 1) and O = (2, 2). What is the head of the vector v: equivalent to v
based at (2, 4)? What is the head of the vector vo equivalent to v based at the origin? Sketch v, vo,
al'ld Vr.

V-%<2-1,2-1) =<1,17 e
Q

. Shabk ab (34) D 2~ at  (3,5)

* Stoat ab W D el ak (L)

In Exercises 5—8, find the components of PO
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17. Sketch 2v, —=w, v + w, and 2v —w for the vectors in Figure 23.
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In Exercises 37—42, find the given vector.

37. Unit vector ev where v = ‘§3, 4}
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39. Vector of length 4 in the direction of u = {—1, -1}
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43. Find all scalars A such that A {2, 3/ has length 1.
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46. What are the coordinates @ and b in the parallelogram in Figure 25(B)?
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57. Calculate the magnitude of the force on ¢
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Section 12.2 -- Vectors in Three Dimensions

6,9, 12, 24, 26, 31, 35, 37, 42, 43, 50, 62

In Exercises 5-8, find the components of the vector ¥ 2.

6.P=(-3,-4,2),0=(1,-4,3)
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In Exercises 9—12, let R =(1, 4, 3).

9. Calculate the length of 0.
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12. Find the components of u="PE, where P =(1, 2, 2).
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In Exercises 24-27, find the given vector.
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In Exercises 29-36, find a vector parametrization for the line with the given description.

31. Passes through P = (4, 0, 8), direction vector v = 7i + 4k
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In Exercises 37-40, find parametric equations for the lines with the given description.

37. Perpendicular to the xy-plane, passes through the origin
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42. Find a parametrization of the line through P = (4, 9, 8) perpendicular to the yz-plane.
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Section 12.3 — The Dot Product

In Exercises 11 2, compute the dot product.
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In Exercises 13—18, determine whether the two vectors are orthogonal and, if not, whether the
angle between them is acute or obtuse.
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In Exercises 19-22, find the cosine of the angle between the vectors.
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In Exercises 59 and60 compute the component of w along v. Com e v‘d = Jjwll-cosd
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61. Find the length of & Fin Figure 14.




w-V

\A.

—_3 M
61. Find the length of @& Fin Figure 14.
¥ ‘2 3
bghh W Dp = Compremt R T

i~ QQ“M_L’HO“ V‘
wv = <3,5) (8,27 = 3.8+s-a
64+ i0 = 34
WVil= Jg2xa> = Jép

"

9.4+ G+R = TF + Tk + j‘faf 31;

1"
O
-1—
G

+
-~
+
(o}

"
N

Fox L A N
10. 3j +2k) - (i—4k) = 33-1 - nkj f&?t—ﬁ kﬁ
0



